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5 4 1026 VHfH RFE() = &@-mBsT 12.82 5 6 2093 R EHAQ) = E-uE® 13.03
6 1 1033 HA+ HE(2) = & s 12.93 6 4 804 IUF B = &=-paEdp 13.26
6 5 65 FAFREROCEE (1) = m- mseR 12.93 *TL 1 507 =#mBEER(2) = - AMRH DNS
8 9 1576 =jH f&M-(3) = E M 13.26 3 104 f@H FEAQ) = & Emeop DNS
6 1551 B35 ®K(2) = E-/Mrad DNS 8 2323 A A1) = mepmEie DNS
154H (:+0.7) 1650 (Bl +1.1)
JIEAE V-v funT - KR4 i FLEk 2AVb NEQE V=2 fun' - K4 e FOEk 2AVb
1 2 117 I BE(2) = & Ehe 12.65 L4 1719 JbFF KE@B) = @- &S 12.53
2 3 1548 BERE(2) = R 12.76 2 9 827 W RSB = E-phEd 12.82
3 4 111 KA K—(©2) = @m-Emh 13.10 3 6 828 KU FHE(QR) = E-phsd 12.83
4 5 1126 fEHRERES(2) = &AW 13.15 4 7 264 [MH BE(2) = ®-mEsnd 13.03
5 1 266 A kK2 = ®-mErEd 13.16 5 1 1415 fifJ #A4(©2) = =-wmd 13.09
6 6 262 LUy fEE©Q) E-mond 13,33 6 3 1468 BH AKHME(2) = m=wkmEd 13.11
77 1078 K f#fh(3) = @m-mmT 13.55 78 810 WA EIEQ) = & pHEd 13.42
8 5929 74 WK (J1) = - sun TEC DNS 8 2 1759 I F() = & Eweh 13. 49
9 846 R #EF(2) = ®-fded DNS 9 5 806 & HFzMH() = &E-bamd 13.51
174 (:+1.4) 18#H (8l +1.0)
JIEGE V-v funT - KR4 B FLEk 2AVb NEQE V= fun' - K4 e FOEk 2AVb
1 6 2462 JH &A1) = - EgS 12.82 1 1 2773 JHH 1) = &-z&t 12.95
2 5 1756 fEA EIK() = & = 13.10 2 9 2012 FZH ARES() = & CRE 13.11
39 2213 [UA MEQ) = &E-ERD 13.12 33 101 WA EZEQ) = - EWE 13.31
4 8 5640 =K LE(J1) = #E- 4k 13.37 4 8 1465 HFS HyE(2) < ome cwemn 13.38
5 7 735 MM KE Q) = m-EaT 13.37 *TK 5 6 370 A @) = ®- g 13. 47
6 4 5925 JEK BB (J2) = - fEwRC 13. 46 6 5 814 thit Wi(2) = &-burth 13.48
71 610 HAHZANE) = m-skms 13. 67 7 2 5661 FEAEA(J1) = &-RELRC 13. 49
8 2 2089 Az HH(1) = |E-mms 13.73 8 4 265 [LIR BE(2) = m-mrEd 13.56
3 1124 Efm 34 Q) = E- s DNS 701764 [P BEQ) = E- T DNS
19#H (. +2. 2) 20H (:+0.9)
JIEGE V-v funT - KR4 B FLEk 2AVb NEQE V= fun' - K4 e FOEk 2AVb
1 8 546 [y (2 = & _gd 12. 69 1 6 1019 ¥ (=3F(@2) = &-mes 12. 96
2 2 2786 Ful EEVR(1) = & -mmd 13.00 2 3 2090 M EHEQ) = E-mmEd 13.21
39 408 FHHBEAAR(2) = memmrEh 13. 14 3 5 2364 KEF &HF() = m-Ebsd 13.22
4 5 86l WK BRE(2) = m-gmEih 13. 16 49 1066 K JEME(2) = &-smd 13.48
5 4 2420 FF AKBA(Q) = @ -mmt 13.29 5 1 801 Fhi kBI(1) = E-pHED 13.73
6 6 972 [UA  FHHE(Q) [T 13. 30 6 8 2715 #hH {&#k (1) & A 13. 89
71 1714 TN E(2) = E - g 13.32 2 2418 IR FEOKQ) = E-sEmd DNS
8 7 800 RVEIHKHS(1) = &- g 13.56 4 113 BEAR f&E©Q) = EH- EBgd DNS
3108 AH EME@) = E- T DNS 701275 )i HAK(2) = E - DNS

LI DNS: 35 +TKEZ=HY *TLIEERL




&2 B8 F-100m

Borp ek (K)) 10. 62 ol R (PR oA (2019) 11H4H 10:35 #4hb—x
BANV-A  364H
21%H (Jf:+0. 3) 22%H (JEL:+0. 1)
JIEAE V-v funT - KR4 i FLEk 2AVb NEQE V=2 fun' - K4 e FOEk 2AVb
1 4 1027 HRA (3 = &-dmh 12.97 1 5 2797 AR FEH (1) = &-@Es 13.51
2 6 2904 FEAS Z(Q2) = m-pmEin 13.37 2 3 1020 HYP Rp@) = &-mEhb 13. 60
3 5 1466 bl IEE(2) = me Smkmm 13.59 3 6 862 BpAT FEEHE(Q) = m-pmaEn 13.60 *TK
4 8 364 |l B (2) = m- g 13. 62 4 1 864 HHR EEM(2) = m-omE 13.61
5 2 2725 I WLA(J2) - moewmersy 13,74 5 2 2217 Jef BAEHQ) = E-ExT 13.87
6 7 2154 FEJE KEA(1) = & - mdeh 13.75 6 4 803 K HEANQ) = &-pumd 13.94
7 9 1564 FEABREEE (2) = & - MR 13.77 77 366 ARMMEEAQ) = m- g 14.15
8 1 259 |l WAEL(2) = @ mARED 13.83 8 9 813 BEFBIMEE (2) = &-bumth 14.23
36718 /N BRI (J1) = mekvosmae DNS 9 8 860 KH T2 = m-FmEn 14. 24
23%H (J&:0.0) 245%H (L:+0. 6)
JIEGE V-v funT - KR4 B FLEk 2AVb NEQE V=2 fun' - K4 e FOEk 2AVb
1 4 2737 BB FAOEEE RN 13.21 19 823 #M &&(3) = ®m-bukd 13.55
2 8 2315 Wl SHEE(1) = e msEn 13.41 2 6 2155 kY EiE(Q) = & 13. 61
3 3 1646 HlE  KEE(2) = ®E-zAT 13. 47 32 1984 VEH @il(1) = E- AR 13.75
4 6 1463 FH I EF(©) - SHAHE D 13.86 47 3063 HF FHKQ) = & 13.76
5 7 02525 TEAR AREK(1) = - o 13.91 5 5 856 pH EHEQ) = w-pmwEr 13.80
6 9 118 JNjE K@) = &-Ed 13.93 6 3 2719 A (1) = m-gmilh 13.95
72 2318 ki MiA (1) = m-gmEn 15. 03 1109 VEHE EZ=E(2) = & EW DNS
1 1761 HifFH () = - e DNS 4 1024 = (@) = E- s DNS
5 2385 AT () = & -@ET DNS 8 606 B W) = & -umd DNS
25%H (f:+1.8) 26:H (& +2. 1)
JIEAE V-v funT - KR4 i FLEk 2AVb NEQE V=2 fun' - K4 e FOEk 2AVb
18 831 |[UAHHMFEEEGB) = &-wed 12.98 11 64 AL BEA(1) = - m¥dch 13.25
2 5 2013 Bl EZE(Q) = E- CRH 13.73 2 6 116 5 —©Q2) = &-EHT 13.56
3 2 62 A (1) = & mesep 13.78 3 4 261 & Vips (2) = - AR 14. 11
4 9 2895 i w— (1) = & 13.81 4 5 2316 [MJE BZ(1) = @i 14.23
5 1 2890 HH &A1) = &k 13.94 5 7 5664 HFH Fr(J2) = - emRe 14. 34
6 6 1414 EA WEE () = & A 13.97 6 9 2905 gk MEE(Q) = & Afd 14. 37
74 2774 EEE OKFa(1) = E- R 14. 08 73 2091 ARE &) = E-sms 14. 46
8 3 2317 (AR BEAI(L) = mepmEn 14. 31 8 8 805 #iH HIHE() = &E-bumd 14. 88
9 7 1555 KAK FHT(Q) = &Mk 14. 44 2 816 Wy BE3F(2) = - bamD DNS
27#H (f:+1.4) 28%H (AL +1. 2)
JIEGE V-v funT - KR4 B FLEk 2AVb NEQE V= fun' - K4 e FOEk 2AVb
17 1557 HEF REER(2) = E MR 12. 60 1 4 971 Tply EORE(Q) = m-wtsd 13.06
2 8 2314 K ERQ) = weopmEin 13.52 2 6 1028 |[UA KE@R) = E-mEEd 13.85
3 5 2742 HH (1) = - MEp 14. 00 3 5 2739 FAR FEN) = &E-/MEH 13.92
4 2 369 HEARK O EKQ = & gmiss 14. 05 43 2728 A& MKEQ) = &E-MEe 13.97
5 9 1359 RAIL EEER(2) = & aEmd 14.13 5 7 2881 #k M@EAI(1) = E-Ed 14. 54
6 1 403 WA #K(1) = w-wmbm 14. 14 6 8 1360 FE HFE(2) & AR 14.75
76 1755 FPH FEA() = E- Ed 14. 41 71 102 /N BLA(2) = E- Ehb 14. 84
8 4 859 #EM Hth(2) = m-pmEim 14. 49 8 2 2524 /A HE() = E-seh 15. 31
3 1640 B &K@ = &&-z&% DNS 9 2322 EBFHEAANQ) = ®-pmEe DNS
29%H (Jfl: +0. 5) 304H (J&L:+0. 9)
JIEGE V-v funT - KR4 B FLEk 2AVb NEQE V= fun' - K4 e FOEk 2AVb
14 809 ZF| #HK(2) = ®=-wEdw 13.30 1 2 1565 W MRE(2) = &-/MrH 13.22
2 32732 WO OBGHQ) = & Mue 13. 47 2 3 67 TEEE ERE() = m- gwsop 14. 04
3 5 2740 e Ak = E -z 13. 80 3 4 2362 AHEKER(Q) = m- b 14.16
4 8 1985 ATH EEZE(1) = &AM 13.87 47 2157 i B—BER() = @i 14. 34
5 6 2892 KASEAM() = &-m@eh 14. 89 5 9 1708 Rt FEME(1) = E-EmT 14. 50
6 9 2383 iy ARMAMQA) = E-mET 15. 42 6 6 2894 duJR KB = & wmmEeh 14. 64
7 2 2384y KIE() = & dEpT 15. 60 7 8 400 JIlQ EZE(1) = Wb 15. 04
1 1556 il FEE () = #E-Mrep DNS 8 5 1760 #AH FE() = =- EWh 15. 14
7 1766 K7E =) = ®-EHF DNS 1 969 KPE Kfn(2) = m-atsms DNS

LI DNS: 35 +TKEZ=HY *TLIEERL




&2 B8 F-100m

Borp ek (K)) 10. 62 ol R (PR oA (2019) 11H4H 10:35 #4hb—x
AADV-R  36%H
31%H (f:+1.0) 32%H (J3L:+2. 2)
JIEAE V-v funT - KR4 i FLEk 2AVb NEQE V=2 fun' - K4 e FOEk 2AVb

1 5 1654 &4 RIKB) = &-z&K4 13.70 1 1 1641 #A 2@ = ®-zaTf 13.03

2 2 514 BFEHZN(©Q) = &E-ARH 14. 25 2 3 68 fAft FER (1) = m- mas 13.90

31 72 TR OKRFHQ) = &Rk 14. 38 3 2 2468 LA FERE(1) = @A 13.95

4 8 974 FEIL LJR(Q2) = m- wtsep 14. 49 4 8 2733 i BAHMI(D = &= 14.85

5 4 2014 MR EAQ) = @ —ad 14. 80 5 6 1758 JEfd (1) = E- B 15. 28

6 7 58383 VEE MKl = mewmressrx 14.93 6 4 1754 HFH KAQ) = &=- Ewd 15.29

7 9 3065 FHAT () = @& /hMEd 15. 64 77 260 FAH FHEE(2) = m-msEd 15. 45

8 3 81l [UARHEREQN) = =-puEdh 15.75 8 9 1757 WE[M FEEE(1) = & Ehep 15.76

9 6 2356 TN BEA(1) = ®-dtsw 15. 77 5 279 AR FXKQ) = &E-@mEd DNS
334%H (Jf:+0. 9) 34%H (JEL:+1.9)
JIEGE V-v funT - KR4 B FLEk 2AVb NEQE V=2 fun' - K4 e FOEk 2AVb

1 4 368 M EE Q) = W s 14. 65 1 4 607 HBE RKZ(Q) = &-mmsg 14.17

2 5 2738 B O {EE(Q) = &M 14. 67 2 5 63 WA TEQ) = m-swbep 15.70

3 6 2361 EEHBABA) = & il 14.72 3 8 2552 EAR HE(1) = &-aEwEH 16. 49

4 9 69 NE FBI (1) = E-mEEs 14.73 47 1021 HME @MW) = E=-mEth 16.71

5 2 802 Lj# W) = & 14. 89 5 2 2088 [UF EiME(L) = E-uEd 16.73

6 7 2734 EA EFQ) = &E-Med 15. 12 6 9 2320 WO EMA) = m-mmEie 16. 74

78 2769 PEL O ELH() = E-ZRH 15. 89 3976 W BsL(2) = m- gt DNS

8 3 2796 Jbkf BEA(1) = &= -wmwEd 16. 07 6 2319 & EEI() = ®-esmEnr DNS
35%H (L:+1.5) 364H (Bl:+1.8)
EGE V- fun - R4 e Fofk 2Avb NERE V-V Jun' - K4 s Fogk pvb

1 2 1138 fO SREL(3) = E-JEAp 13.67 1 5 2950 H. bk HERG(D = & - mmEpe 13.52

2 4 2775 VEME BEA() = ®-2&W 13.89 2 6 2878 ML fEE (1) = ®E- xR 13.75

39 2469 EFF AR Q) = E-EAETH 14. 27 39 2461 KT FEAKQ) = &-Egd 13.77

4 3 2560 KP FEE(L) = - BiFS 14.53 4 8 1261 T K@) = @-iH 13.80

5 8 2357 EEEEKEF() = & #Htsep 15. 08 5 4 2941 AR PEER(1) = - fded 13.89

6 5 373 QO k() = m-pasT 15,90 6 7 2952 f@ib fEfH(1) = E-mwe 1401

7 6 66 LAEEZIT (1) = |- s 16. 56 7 3 2355 SAAREmRR(1) = mE- mbg 15.12

8 7 2901 /MBI FIA(L) = - @ 19.73 8 2 2304 EuH f&H(1) = E-sdew 15. 48

HA hL—R BAr8AL

JIEAT fon - K4 B Fofk Ay 2iv)
1 1650 K& B2 (3) = ®-z&H 11.35 +0.9
2 2756 AT FA(J2) = @-evorae 11.42 +0.9
3 1567 HJI FAR@) = & Mrp 11.43 +0.7
4 857 LER K—(2) = ®m-pmenn 11.54 +1.1
5 1581 FA MKE(3) = &- /Mt 11.65 +0.7
6 2359 AR W (1) = m- A 11.73 +0.9
7 1074 & BRE Q) = &-s@d 11.74 +0.9
8 977 JLRIEKEB(2) = & mtehh 11.76 +0.9

LI DNS: 35 +TKEZ=HY *TLIEERL



B 4-3000m

Borp ek (K)) 8:27.92 AR RPHE 1) S FIILAE (2019) 11H4H 14:00 4{hv=2
AABV-A  4FH
1#H 258
JIELL ORD  fvn'— K4 B FLEk 2AVb JIELL ORD  Fvn' = K4 e FOEk 2AVb
1 22 1566 A M (2) = m-/MRt 9:45.49 1 19 1644 FE AN (@) = ®m-2&% 10:02.45
2 21 1125 H¥E FA(2) = E-EAF 9:46.32 2 12 508 AR TFHRE(2) = & Add 10:14.85
37 116 5 —#(©2) = &|-Eh 10:03.93 3 15 81 o H5—(3) = ®-m¥sek 10:16.03
4 15 125 PEH BRfE@) = &- EWb 10:04.64 420 1756 A k(1) = &-EWb 10:20.75
5 8 103 #AFM [EFA(2) = & ESF 10:06.01 5 9 1559 M JE(2) = ®me/MEHR O10:21.86
6 16 407 AFH  KE() = m-wEerme 10:06. 14 6 16 1703 FA FEL(3) = =-@uEh 10:32.77
7 19 1469 #iK BEK(2) = m-=mawEt 10:06. 21 7 21 1270 F  A[EEA(2) = - s 10:37.59
8 13 734 M ¥AK(2) = E-Esd 10:10.07 8 8 547 HiH EM(©2) = =- R 10:40.39
9 3 118 JnjE K2 = ®E-EW+ 10:16.63 9 5 1760 fAH  ZWE(Q) = E- EHT 10:44.22
10 14 417 dekF @ (3) = meewmews 10:20.18 10 22 398 ¥4 FA(L) = - wmermn 10:49. 83
11 20 5634 A FEE(J3) = &-48Jr 10:23.24 1111 1075 ‘i ¥k (3) = ®|-@mE® 10:55.75
12 11 127 Ve #K@B) = &-Esd 10:24.60 12 1 1558 /NH  Ei#&(2) = &- /M2 10:56. 06
13 4 418 FFHE BEE(3) = ®-psobmd 10:28.05 13 14 406 (L)l SE3F(1) = ®-esermr 10:57.68
14 9 1645 KW FNA4(2) &% d 10:31.17 14 10 404 JbHy HEE(Q) = mewserar 11:01.62
15 2 87 L ALK (3) = & - mEmh 10:32.10 15 17 1067 % AiE(Q) = ®E-@mmEs 11:03.74
16 18 1465 &y HifE(2) me =mAmme 10035, 68 16 3 123 /KR MG (3) = - Eseh 11:09.83
17 1 1468 BH SOE(2) = ®-=mumme 10:41.27 17 7 402 dbAF A1) = ®emBerme 11:15. 80
18 17 126 Jbff BEK(3) = & - Ehh 10:41.67 18 18 1071 HF —[E(2) %Mt 11:18.65
19 5 102 /M BAAN(2) = - EhgF 10:42.14 19 2 74 KT OBEREQ) = @y 11:21.11
20 10 425 deHd EHG) = mewmebEt 10:42.79 20 4 405 B Be(1) = &-mmbms 11:28. 70
6 119 ATJF FHEE@R) = - Ewed DNS 6 77 KT OFEQ) = & B3 DNF
12 546 FA% R = & —R$ DNS 13 1068 fhE 1HHEQ2) = &-@mmh DNS
3%H 448
JIEifiz ORD  Fvn"— K4 B Fofk 2Avh JIERZ ORD  fvn' - K4 il Fofk 2Avb
1 2 506 #kt BEK(2) & A 11:02. 77 1 18 1647 ik AE(Q2) = #-z&Ah 10:43.82
2 22 70 fEA MA(2) = W mMse 11:20.56 2 2 2178 AR FHHIQ) = ®-zxB 11:17.50
3 21 861 WEAY BEE(2) = m-gmEin 11:27.92 3 8 259 (LK WRAEL(2) T-mAEE 11:19.65
4 10 2741 %W BRR() = MRt 11:28.44 4 21 1648 kY BHER(2) = m-2KH 11:22.96
5 17 1565 WA IKE(2) = E MR 11:29.67 5 7 2768 VHEF WAE. (1) = #-Z&H 11:30.54
6 20 368 WH O EZL(Q) = & gEkd 11:43.00 6 3 2891 YW JEAK() = m-wmEas 11:32.77
7 15 1500 HAF ®IH(2) = ®m-#muk 11:52.97 76 2794 dbAF HIAQ) = - 11:44.76
8 7 5883 VHEF BHAJL) = mowmoe=rx 12:16.69 8 11 1273 #k FEAK(2) = &Rt 11:45.79
9 5 2734 B EfMQ) = &E-/MEh 12:23.25 9 12 1712 AWM F#i(2) = &-&EH 11:55.13
10 11 5664 HyH B (J2) = - mEmRC 12:23.89 10 16 509 Ak @t (2) = &-ARH 12:04.22
11 6 1579 #H E8L(3) = @ -/MRP 12:25.55 11 14 1985 #fH BEzE(1) = &-Afs$ 12:11.51
1219 2419 FHE #E¥WRQ) = &E-@@Ed 12:29.64 1217 1397 /MR BROK(2) = ®-mfsmd 12:23.70
139 1498 Il I (2) & pEilh 12:31.61 13 15 607 HiE KZ2(2) = &=-sEd 12:30.52
14 14 545 JIH: @3} (2) = ®- —R+$ 12:51.32 14 20 2356 PO BEK(1) = &-zbssk 14:00.79
1 2385 kA () = &-mEad DNS 15 5 2771 kb R&E(Q) = #E-2K0 14:23.77
31022 M4 B2 = ®-mEh DNS 16 9 2776 A& A1) = E-z&H 15:40.72
4 2729 m)I BRER(1) = & - oMmep DNS 1 2893 FroFEEAES (1) - R DNS
8 2319 A& fE_BI) = ®m-pmEw DNS 4 258 ®H RKIER) = &-maEd DNS
12 1069 fwH HKF Q) = Z=-@mE® DNS 10 268 [ KHE (2) o AR DNS
13 1073 B4 Bt (2) = & mmd DNS 13 257 f4HE Ik (2) = m-mnEd DNS
16 374 [ R (2) - DNS 19 1501 Wi #£(2) = &=-gmih DNS
18 131 A &EHIQR) = &- Bk DNS
A L —R ENSAL
JIEAT N - K4 B Flbk aivh
1 1566 E/A fH(2) = &E-/MEh 9:45.49
2 1125 H19 F{A(Q2) = & EAET 9:46.32
3 1644 H b Al (@) = &-2&F 10:02.45
4 116 54 —#(©@) = &-EHm+ 10:03.93
5 125 Pa4F BRfE(3) = & - Em 10:04. 64
6 103 #RH  FEIA(2) = &- EHh 10:06.01
7 407 FHE OKREEQ) = ®m-wwerme 10:06. 14
8 1469 #K  BELK(2) - =EAEs 10006, 21

JL5l DNS:Ri5 DNF:i&  EEiE



th 52 58 F-110mH (0. 914m/9. 14m)

U ER gk (KJ) 13.76 IWH =X ) SRR 304E (2018) 1134H 13:05 442
AABV-A  4FH
1%H (. +1. 6) 2%H (L:+0. 3)
JIEAE V-v funT - KR4 i FLEk 2AVb NEQE V=2 fun' - K4 e FOEk 2AVb
1 5 5657 [UA BE}(J3) = & - REFRC 14. 67 1 4 973 85K &N (2) = =-wmisd 17. 17
2 6 807 AN SEF(1) = &-pamt 14. 96 2 8 1577 FFRFRE—RE(3) = - MR 17.97
3 7 1713 RmiH FH(2) = - &R 15. 10 3 6 1643 8 FIK(©@) = ®E-ZRH 18.23
4 4 1416 IE)I BHEQ) = &-vFEeh 15.71 4 5 1670 JIIFf K—(2) = #=-Eeph 18. 26
5 2 5656 WA JER(J3) = & - fEERC 16. 41 5 1 1499 jER w(2) = ®m-amld 18. 40
6 9 5545 RO HEA(J2) = m- koo ac 16. 50 6 7 1607 JrEERkzA(2) = ®m-EmEph 18.53
703 1129 /K Z|(2) = E-ELT 16. 65 703 2976 FPOE EIK(3) = W BHuch 19. 32
8 8 165 AfR ZEK(@2) = E-& 16. 67 8 9 2725 ¥ MLA (J2) = m-aumesov 19. 50
9 1 1027 A w3 = &-#Ep 17. 60 9 2 5640 =k LEJ1) = ®m-xE 19. 82
3#H (JL:+0. 2) 450 (. +0. 3)
JIEGE V-v funT - KR4 B FLEk 2AVb NEQE V=2 fun' - K4 e FOEk 2AVb
1 1 2093 B K1) = &-mES 18.73 1 5 5543 #BHF EER(J1) = m-xivoou ac 16. 97
2 6 110 o () = &E- Eh 19. 25 2 2 979 AR RKEOB) = m-wtsmd 18.15
37 371 W A (2) = & sk 19.94 3 1 56563 WA FBEA(J3) = - AEERC 18.53
4 4 512 AMH BM=Q) = & A 20. 80 4 6 2895 it (1) = & s 21. 94
5 3 2892 KAEAHES() = w-mmiE 2116 5 3 5542 thiE IHEL(J1) = ®-xneonac 23,57
6 2 847 HHE HIIQ) = &- &l 23.31 6 4 2889 i BEK(D) = & mmEeAh 23.93
79 2357 mHECEKER() = E-Fbsd 34. 49 77 1759 I F(1) = & - E 23.95
5 71 BHE OZEEQ) = & Bk DNS 8 2946 Aff FHEF:(3) = & mmwus DNS
8 113 AR M&F(©2) = ®E-Ewh DNS 9 101 VHH BEZE(2) = E- T DNS

F A bL—R EABAL
WAl o 4 Pl i B 3ivh

5657 (LA BE3F(J3) = - fEEFRC 1467 +1.6
807 AKf (1) = & pamd 14.96 +1.
1713 HiTH Hi(2) = & &R 15.10 +1.
1416 H)I #w&(2) - B 15.71 +1.
5656 PEAR 5N (J3) = - REEFRC 16.41 +1.
5545 RO KEA(J2) = - KiNoow Ac 16.50 +1.
1129 /MR #(2) = &-Ad 16.65 +1.
155 AR suk(@) = &-—&f 16.67 +1.
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JL DNS:R15



th 22 BB F-4X100mR

B R Rk (KD 42.33 B GHE -4 - A i) 40 5 4F (2023) 11H4H 15:25 J{hb—=x
AABV-A  6FE
140
1% £ OFERMIE 44.82 2% /METFA 44.88 3% HEhHA 45. 07
5h—y v=y 6L—v
=4 = fon - K4 iz =4 = tun - K4 iz} =4 = v - K4 B!
7] TA% = & TN vah = & TEF A0 = &
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77705 A = & 4mb58 4mb5 4m31 4mb8
28 60| 2154E  BES (D HAE L +0. 2 +0.5 +0. 4 +0. 2
FheT iy = & 3m99 4m13 4m51 4m51
29 14 812|" AT FHE () A 0.0 +0. 1 +0.7 +0.7
wrb7 v = X X 4m50 4m50
30 65| 2321\ Assk (1) FEE ) +1.3 +1.3

FL#51 DNS: &5 NM:E2ER7L +F8:2% B DRI K BHIERL




25 F Rk

R R (K)) 7ml1 M AET (& ) %234 (2011) 11H4H 08:40 & Bk
NEAL | BRIE | Fon - | KR4 s 1= H 2[EH 3[E H FLE /b
vy agad = & 4m23 4m39 4m47 4m47
31 56] 970 FH % (2) T g +0. 2 +1.6 +0. 1 +0. 1
=iy 2% = & 4m06 4m36 4m45 4m45
32 36] 2358|FEJIl A (D fit-gn -0.3 —0.3 -0.4 —0.4
A = = X 4m16 4m44 4m44
33 57| 2316|M & & (1) FEE ) +0.5 +0. 6 +0. 6
<IN T yay = = 4m43 4m30 — 4m43
34 1| 1700|k8 5 71 (3) I +0. 1 -0.3 +0. 1
Jzp” Thea = = 4m37 4m37 4m23 4m37
35 54| 2155|BEkE  BLZ (1) Hg +0.3 +1. 6 +0. 6 +0.3
o v T4% = X X 4m33 4m33
36 68| 2090|H 1L M (1) Ik H +0. 4 +0. 4
{0E) 297 = &\ 4m32 4m09 4m20 4m32
37 59| 27288 % M&KE () MR +0. 5 +0. 9 +0.9 +0.5
MA v = & 4m26 X 3m96 4m26
38 15 1764]E  BiE (1) i -0.4 +1.1 —0.4
ek v 3y = & 4m22 3m92 4m00 4m22
39 63| 27378k (1) /M +0. 1 0.0 +0. 6 +0. 1
4 A Fan = = X 4m18 4m10 4m18
40 67| 366 2% HE—EA(2) FrEspE +0. 1 +0. 6 +0. 1
YNy b = X 4m07 4m13 4m13
41 58 2317[1Likk B (D FHEE)I +1. 6 +1.0 +1.0
1hb7 TH = & 3m97 3m68 3m45 3m97
42 37| 1708|HAt  EEHE (D AHEE -0.5 -0. 1 -0.5 -0.5
)Y N = X 3m94 X 3m94
43 62 1547|411 1(2) JME +0. 5 +0.5
y7 Jan Fad = & 3m08 3m72 3m80 3m80
44 47] 21571# BB (1) HAE AL -0.5 0.0 +1.8 +1.8
AR & h = & 3m74 3m71 3m76 3m76
45 48] 1710|8n AR B K1) AHEEF -0.6 -0. 1 +1.7 +1.7
EISEL = X 3m72 3m40 3m72
46 53] 2794|dbAT  FIA (D) I +1.5 +0. 4 +1.5
I M = &\ 3ml3 3m70 3m54 3m70
47 55| 2011|4 ¥  #E (1) s —0.4 +1.6 +0.5 +1.6
) 74N = X 3m68 3m24 3m68
48 35| 2772|h i e (D) EA L -0.3 +0.2 -0.3
7t = & 3m54 3m58 3m53 3m58
49 45] 29418 B (1D) fodb —0.4 +0. 1 +0.7 +0. 1
Wy 3 = & 3m53 2m79 3m50 3m53
50 52| 2010[3LH  #HFE Q) A -0.3 +0. 6 +0. 6 -0.3
Hby )29 = X 3m47 3m51 3m51
51 41 67| () B +0. 3 0.0 0.0
AR J9AN = X 3md1 X 3m41
52 42 9T FEh W) B -0. 4 -0.4
vy Jagh 4 = & 3m26 3m03 3m21 3m26
53 51| 1397|/hvBk FRK(2) FEREN -0.7 -0. 2 +0. 8 -0.7
wr) vy = & 3m05 2m29 X 3m05
54 38| 2893|177 Hr B KRR (1) FEREN -0.2 +0. 1 -0.2
YIhT TfHnn = & X X X
21| 105| EAFZERER (2) Eyh NM
ARF hhret = & X X X
43| 2005|gk fEEL(1) AT NM

FL#51 DNS: &5 NM:E2ER7L +F8:2% B DRI K BHIERL




2 B e Rk

WL Rk (K)) Tml1 R ST GE ) AR 234E (2011) 11340 08:40 & J%
M | RO | o - | B I L=l H 211 F 31l H ALk /b

WYAT NVF = =

2| sh|makt G B DNS
1) Avh = =

4| s15|mEF B |BuEd DNS
=y 7Y = &

6| 5929|768 ¥ KU1 [Sun TFC DNS
AT WAb = =

71 el Q) [Ewmb DNS
Ty v = =

9| 1ed0|E k@ |zAE DNS
RIS = &

22| 1132k WG |E4£T DNS
AR Y2 = &

30| 1134|BpE EEE)  [EAs DNS
TR ElE

39 s3ldhm B |BEBETD DNS
RN = W

40| 1ozolmh K#@  |MBY DNS
R = W

46| 2936|= M  HEA(3)  |BRThEs DNS
7y gy ElE

49| 1652 BEABIQ) (&b DNS
=y v = ®

61 17es|kmE () | Ehd DNS

FL#51 DNS: &5 NM:E2ER7L +F8:2% B DRI K BHIERL




Hh 5 B F-Ha fLF (5. 000kg)

R R (K)) 14m97 BIFT  #ESF (— & ) R 274 (2015) 11H4H 12:15 & Bk
NEGSz | BUE | FonT - K4 s JNEIRE| 2[alH 3[E H FLE EP AN

Yo % oy = &

1 50{  832| il  EiEk (3) A 12m26 12m58 X 12m58
A8 A% = &

2 49| 1575| ¥ H K5t (3) JIMR 12m27 X X 12m27
7R Y = &

3 48] 821 M (2) A X 11m66 11m71 11m71
vayy” aghey = &

4 47]  1079|H:F] 5 AHER (3) 1 H 11m48 11m48 X 11m48
avth afh = &

5 41| 2936 FM HEA (3) FA PR P 11m16 X X 11m16
LI sond = &

6 45| 1715 2=tk (2) AHEEF 11m10 X X 11m10
A% Eh 39 = &

7 42| 370k JEE (2) FrEk 10m44 10m65 10m75 10m75
Yavy vage = &

8 46] 82411 T FHIE () A 10m66 X X 10m66
Ry = =

9 44| 114fmdE &FQ) S 9m81 10m00 10m40 10m40
R ZEN = =

10 37]  375|ER EE(©Q) FrEk 9m83 10m29 X 10m29
e A EVY = =

11 39| 376[HiH K (2) FrEk 9m47 9m55 10m21 10m21
Rt Favy = &

12 40| 100|dkf#  A§%E (2) B s 9m35 X 10m18 10m18
A F Iy = &

13 35| 1361|#A  FF(2) I JE VG 8m04 9m13 X oml3
NS = &

14 34| 1677|/NME  BEHE (2) JE By 9m00 X X 9mo0
aaye /b = &

15 4] 295180 &) fE i 8m77 8m89 X 8m89
ISVAN Y = =

16 38| 2882|0  HE (D) S 8m24 8m84 8m85 8m85
Jh7 ¥ = =

17 31| 2904|FFAT  ZEA (2) JHEVE )| h Tm84 8m78 X 8m78
7AT VA = &

18 32| 1578|&HE A (3) MR 8m30 X 8m73 8m73
) vav)rr = =

19 26]  806|#& ) B 8m56 X X 8m56
B0k ) aby = &

20 9| 2470{E4 Bk Q) JEA T Tm45 8m41 8mb53 8m53
NG VET = =

21 30| 1564 FERABIRER (2) JME Tm94 8m31 X 8m31
o4 oagh” = &

22 8] 2846l &K (1) FrEspE Tm48 X 8m28 8m28
V2 VAEVES = &

23 20|  367|ER)I 1A (2) FrEak 8m10 X 8m24 8m24
Bip= 2y = &

24 43| 1654|&n  RIK(3) Eas X 8m10 X 8m10
Y7 £h 2y = =

25 27| 1641|8AK % (2) Eas 8m00 X X 8m00
DI YY) ad = &

26 28] 1674k HE(2) JE By Tm50 X Tm81 7m81
794 2% = &

27 18] 17541813+ #&AH (D S m40 m70 X Tm70
) 7% = &

28 20| 2720 EF  EEQD) A HLF 6m93 X X 6m93
FhY vantd = &

29 25| 2740|#E KA (D /MR 6m25 6m57 6m91 6m91
IS = =

30 19 401 A vpv (1) FABR S R 5m84 6m57 X 6m57

L5 DNS:Ri5




Hh 5 B F-Ha fLF (5. 000kg)

IR R (K)) 14m97 BIFT EESF(—HH) %274 (2015) 1148 12:15 ¥ B
NEAL | BRIE | Fon - | KR4 s JNEIRE| 2[8lH 3= H FLE EP AN
g 7% = &
31 24| 27323 E HHEH (1) MR 6m41 6m41 X 6m41
S = &
32 22|  AL2|HFFE -~ (2) FA PR P X 6m13 6m38 6m38
NG = &
33 14 802| Lk (1) A 5m90 6m23 6m30 6m30
IR = &
34 16| 5550|4c)E 272 (1) -EBeast 5m85 X 6m17 6ml7
[NAEVN = &
35 15| BO5|EH L (2) UNES 6m05 X X 6m05
EVEIN M2 = &
36 5] 2382|EAAMA Q) Bk 5m81 X X 5m81
wH oy = &
37 2| 1987|H A& (1) UNES 5m35 X 5m77 5m77
ELYA P = &
38 17| 2717%H E4¢)) A HLF 5m04 X 5m55 5m55
wAR= vabtd = &
39 6] 2472y IEak (1) JE A 5m45 X 5m46 5m46
[:E AUV = &
40 1| 974l B Q) T g 5m34 X X 5m34
vE)7 2f} = &
41 7] 2387\ FA EHQ) P 4m97 5m24 X 5m24
=vih v = =
42 11] 1757|761 % (1) BRI LA 4m35 X 4m62 4m62
77 % M =
43 12| 2552|AR  FIFE QD I JE VG X 4m33 4m45 4m45
®ph 403 =
44 10f 17584kl #Hc (D) Ek 3m92 4m28 X 4m28
an vy oyl =
36| 608|/bk EESL(2)  ET DNS
FHE) Jaye = &
3| 1141 MERRG) =4 DNS
4 3ab = &
13| 976|432k (2) T-gh DNS
33y AV = &
21] 1024| =87 @) |EEEE DNS
=y b = &
23] 969 K¥E  KFn(2) fit-gn DNS
BVE Vs = &
33| 2553|FH T E{E (2) I JE VG DNS

L5 DNS:Ri5




Hh 5 B - PR (1. 500kg)

R R (K)) 45m71 = BT (FEREN) %, 284F (2016) 11H4H 10:30 & Bk
MR | BRI | o [ G L[ A 20l H 30l H sk 247}

A8 A% = & @)

1 38| 1575|HLH 1 (3) /M X 37m22 37m22
7R Y = & @)

2 29]  821|AfE M (2) A 35m69 X 35m69
Yo % oy = &

3 36  832| il  HiEk (3) A X 32m66 X 32m66
Jx 42 = & @)

4 35|  375|EHR BT (2) FrEk 31m24 X 31m24
LS ZAVEUAS = & O

5 37]  824| Il T FLE®) A 30m31 31m03 31m03
FhhT T2k = &

6 31 86|H AT ARE(3) PR 29m69 — r 29m69
LI sond = & @) @)

7 32| 17T15|VE  ZEpk(2) ST 27m84 27m84
FhE) Jaye = &

8 34| 1141 FEREG) JEAE X X 26m94 26m94
avth vt = =

9 33| 413 P (2) FA PR P X 26m14 X 26m14
=yh7 Bk = & @)

10 20| 2564|FEFT  SCHE(2) B Fn 23m80 25m35 25m35
YRR (b = =

11 22 1028[1LUA Ik (3) ik 25m24 — 25m24 25m24
190 F 2} = &

12 23] 372l BEA(2) FrEps X X 24m24 24m24
ISZAN Y = =

13 7] 28820 HE (D) S 23m20 X 23m86 23m86
it Favy = & @)

14 27] 100|dk[E A% (2) S 22m29 23m84 23m84
FAT VA = &

15 25| 1578|Z&H8 A (3) MR X 21m51 23m29 23m29
LRV = &

16 24| 365|#Ef T (2) FrEk 23m10 X X 23m10
2Ih Vagh = & O

17 5| 376[aiH A (2) FrEpk 22m53 22m96 22m96
ISR = & @)

18 21| 859|#BE:  Fhth(2) FEE ) 22m91 — 22m91
% e = & @)

19 16)  971|¥pir  ECEF(2) FA-gn 22m84 — 22m84
7Y 07 WEY = &

20 19|  S13|EFEEUEE (2) A 21m42 — X 21m42
IR = & @) @)

21 12| 5550|4272 (1) -EBeast 18m44 18m44
A F Iy = &

22 17| 1361|80K  ZEE(2) JETEH X X 18m00 18m00
vavyy §AF = & @)

23 13| 24664 KA 1) JE A 14m37 17ml4 17m14
4 by = &

24 18] 860kH  #FEZ£(2) FHEE I R X — 16m84 16m84
)9z v ) = H O O

25 3| 2632 RIE 2B (2) s 16m79 16m79
VLl = &

26 1] 1128|ihH FjZE(2) JEA T X 13m99 16m13 16m13
EE ALY = & O

27 4| 2717/ kH Q) AL 15m48 16m09 16m09
VA7 43 )3y = &

28 10{ 1897|xV47 qapi K (1) |[(FE4uk X 14m19 15m35 15m35
VALY V] = &

29 9| 2733[i+ WaKEHQ) JIMR e 15m17 X r 15m17
B0k D aby = & @) @)

30 6] 2470{E4 Bk Q) JEAE T 14m05 14m05

JL5 DNS: R 15 NM:EEER7EL




Hh 5 B - PR (1. 500kg)

I 2RI EE (KD 45m71 = T (EEN) PR 284F (2016) 11340 10:30 & B
NEAZ | BUE | Fon - R4 i 1= H 2[5 H 3EA FMAES apsb
4207 F aypug B
31 8] 2362|148 15 KHS (1) RN L 11m15 - r 11m15
T Bl
32 2| 1360|HHr  HEE(2) I JE VG 6m17 X 10m95 10m95
0 F Fovay =
33 11] 2320|810 #FHQ) FEVE ) 8m77 X r 8n77
70%< Vb =
28] 1790[t@I1L s#L(3) S X X X M
Y AT =
30| 608|/bk EESL(2)  ET X X X NM
#) tnh =
14] 23224 8F A (1) e )l DNS
Wy v =
15| 2553|H T i (2) JJE T DNS
VAR =V =
26| 8175t EET(2) B DNS

JL5 DNS: R 15 NM:EEER7EL




H 52 427-100m

VR A (KJ) 11.99 et e (PrEh) A FnoetE (2019) 1LJ4H 11:30 J{hV—2
BAhV-2 22f8
158 (L +0. 8) 2%H (41, 4)
NEAL V-V funT - A s Fogk 2pvb JIAGL V-v fun - K4 e FLfk /b
1 6 1597 #k B (3) = & Mg 12.06 1 3 1585 M EAE(2) = E-/MRE 13.05
2 7 5089 FK FYE(J2) = #W-NAC 12.43 2 5 T4b HIF MEE(2) = &E-ExT 13.39
3 5 36 AH BWE®OB) = E-KRAD 12. 64 37 532 VHH EIEQ) = &E-AMmP 13. 40
4 4 1591 VEAF H W (3) = E /MR 12.92 4 2 162 #H Fgb () = & &P 13.40 *TK
5 8 297 ME 1-F(Q) oy 12. 99 5 6 685 fiH LyE(©2) = ®m-wEkd 13. 44
6 3 2370 M /A1) = E-wubsE 13,09 6 4 845 U EEREB) = &E-pasd 13. 47
72 163 ER/JIFEEKQ) = & kb 13.11 78 1661 VEIIEKIPE(2) = #-ZRW® 13.48
8 9 2223 KPE WEE(1) = @R 13.38 8 9 1582 (Wil HEF(2) = m-/MEw 13.51
9 1 559 MAHEIRA@B) = &E- CRd 13.49 9 1 5652 BH I3 = E-REERC 13.67
3%H. (H:+1.7) 438 (JE:40. 4)
NEAL V-V funT - A iz Aogk 2pvb JIAGL V-v  funT - K4 e FLfk aAvb
1 6 1285 Mo R (©@ = &-xmd 13. 32 1 4 1588 KWE FifE(2) = #-hMEd 13. 62
2 1 165 fgtl HZ () = ®m-—FP  13.52 2 5 1081 FEA FHEE(2) = ®-mmT 13,72
3 5 2422 W BHAMQ) = &-sEd 13.60 38 5890 Al ERL(J2) - omommve=ssa 13.85
4 3 2164 WBHEWHE () = m- i 13.82 4 6 434 B OFRE(Q2) = ®m-ewerms 14. 04
5 7 3000 At 1% (2) - TN 13. 86 5 2 164 FH|] dLLN(2) = @ EE 14. 10
6 2 2792 R EMWQ) = E-myd 14.07 6 7 997 (L EA(Q) = ®m-wtmd 14.12
78 995 PHE EELS(2) & - A 14. 31 7 3 1512 |LUBE HIR(2) = @m-amik 14. 24
4 98 Kl EHEQR) = ®m- mPmed DNS 8 1 2725 WA AEE(1) = ®-AmELE 14. 63
9 1156 A FEix 1 (3) = &-&4d DNS 9 2325 Bkl EER() = m-gpmEnn DNS
5%H. (B:+1.7) 634H (JE:40. 9)
NEAL V-v  funT - A s Aogk 2pvb AL V-v  fun - K4 e FLfk aAvb
19 1767 B Hi&(Q) = &-Emt 13,68 1 5 872 BH 4£%E(Q) = m-gmenm 13.76
2 1 2749 i EARQ) = &m-MEE 13,72 2 6 1151 H P (2) = m-madh 13,89
37 83 ki HEQ) = & pHED 13.80 38 841 KB HLLN(2) = - BHET 13.95
43 1284 M XA (2 = & 13.81 44 1405 JEEFR LHE(2) = m-mEAh 14. 00
5 6 1371 (L fEL(2) = meamwEd 13.98 5 1 528 |LR W@ = & Afd 14. 16
6 5 840 MK {ZHI(Q2) = & -paEs 14. 00 6 7 525 (LA E(©2) = m-ARH 14. 26
7 4 1511 [l3E ®E©Q) = ®:-amu 14. 04 7 2 1453 LW BH (@) = =-9Rm 14. 31
8 8 617 HA MEE(Q) = m-smET 14. 28 8 3 2791 W @EHQ) = &E-mmd 14.87
2 1152 S{Lu7Zpod (2) = & - EAR DNS 9 852 HIE FEHEQ = E-fded DNS
THE (HL:+1.8) SHH (JE:40. 8)
NEAL V= o - K4 il gk iVl JERL V= fon - K4 e gk vl
1 7 433 % WHE(Q) = m - b 13.92 1 6 2750 7I'F Q) = &-Med 14. 04
2 5 142 AR f&IN(2) = E- Ekd 14. 26 2 8 93 A FiAE (1) = E- s 14. 08
38 2367 HWF ER(1) = m-mtsd 14. 33 33 1784 it @mEE() = &-—Ew 14. 11
4 3 1849 TVEKT #AE(1) = ®-mEsEd 14. 35 4 9 146 fRH ERFL(2) = - EW 14. 27
5 1 135 O HE#EZS Q) = & Emh 14. 37 5 1 437 g TE(3) = e msha 14. 27 *TK
6 9 431 O FT-(1) = memmtmn 14.37 *TK 6 4 744 VEKS ME(Q) = W EaT 14. 45
74 2527 BLFY FEFA(L) = - g 14. 66 7 2 5669 EH AHA(J2) = - fEERC 14. 48
8 2 838 EH MHEQ) = &-basd 14.72 8 5 1447 R ERE(Q) = &=-wEd 14.59
6 2366 /T EE(1) = m- st DNS 9 7 842 AT B(2) = &t 14. 83
%R (0. 0) 104 (8:+1.6)
NEAL V-V funT - KA s Aogk 2pvb JIAGL V-v funT - KR4 e FLfk aAvb
1 7 851 AM% (2) = &-feded 14. 16 1 6 288 TFQ MEE(1) = &- @S 13.88
2 2 2143 REZ &V (1) = &-/MiEf 14. 17 2 1 1157 FZH KB = & Easd 13.95
39 1994 WL EEQ = E- AL 14. 52 3 5 2639 Wl WA J1) = #E-NscC 14. 15
44 996 BEFN AIT-(2) = ®m-Tisw 1466 4 3 2802 KU FEE(1) = &-@Ed 14.35
5 5 141 KL< () = &E-Ewd 14. 69 5 7 138 g A (2) = E- BT 14. 53
6 6 2326 EA EEF() = ®m-omEr 14.78 6 2 1682 Fh Fik((©2) = -y 14. 58
7 1 882 i BE Q) = @ pE 14. 81 74 1785 FHHIEFSAA) = E- o 14. 64
8 8 94 KE Q) = @-suks 14. 87 8 8 616 I WEQ) = E-mES 14. 66
3 874 EH EB(Q2) = ®m-pmain DNS 9 2368 I = (1) - s DNS

JFL#I DNS: K15 *TKEZEHY



H 52 427-100m

R AR (K)) 11.99 I BT () A FIoeAE (2019) 1LHAH 11:30 §{hb—%
BAMV-2%  22%H
1148 (& :+2. 1) 1240 (EL:+1. 4)
NEAL V-V funT - A s Fogk 2pvb JIAGL V-v fun - K4 e FLfk /b
1 7 1904 AT AEHIQ) = om- g 14. 42 1 3 843 Ltm\m XIH(2) = E-pamd 14. 41
2 3 2225 JUAR EEx(1) = E-Esd 14. 52 2 6 2222 HEE ERABY(1) = E-Esd 14. 56
36 1779 R OME(Q) = E- B 14.58 3 8 1663 HH FEF(@Q) = &:-zaT 14. 86
4 9 2745 HR O ELQA) = E-MRep 14. 65 4 1 2927 WIS E (1) = ®-aRwE® 14. 88
5 5 1908 BEZ% fEE) - G 14. 74 5 4 619 K EAEQ) = &-pmep 15.01
6 8 2475 MW WEQ) = E-mAd 14.78 6 9 1998 /A FEMK(Q) = & - ARH 15. 04
701 2224 BRIl OKEQ) = #E-ER 14. 88 7 5 1786 AR REE() = & & 15. 24
8 4 1732 [hp FEE(Q) = ®m- 15. 08 8 7 140 AW MEE(2) = &= Bt 15.51
9 2 1513 Il Q) & gmELg 15,41 2 2806 L B (1) = & - DNS
1348 (H:+1. 5) 1430 (JE:40. 9)
NEAL V-V funT - A iz Aogk 2pvb JIAGL V-v  funT - K4 e Rk 2Avb
1 6 1408 Mk =Ek(2) = m-mEis 14.73 1 4 1772 HJIHILRE (1) = & - Ehgd 14. 49
2 8 1590 AHHE FifE(2) = E-/MEE 14.75 2 9 1281 Wl ZEE(2) = - 14.90
31 139 RAEAS KR (2) = E- Epeb 14. 80 308 274 WE FEA(2) = @m-mnEh 15. 14
43 2371 FFERMQ) W g 14. 82 4 7 136 Il MESE(2) = W EWT 15.18
5 9 396 TFF & (D - R 14. 86 5 1 1406 | Z5(2) - TR 15. 26
6 5 1263 FHEEAEE(2) = &-gmm 15. 01 6 3 2727 W EF(1) = ®-amELE 15. 29
74 835 J[uH EEQ) = E-BHETD 15. 26 76 2526 FREE EmE(1) = & - skEen 15. 37
8 2 1264 K¢ FZ(2) = - D 15. 57 8 5 143 WR @) = &E-EmT 15. 42
7145 g @) = - FEme DNS 2 620 VR FEE(2) = & DNS
15%8 (L:+0. 5) 1630 (JE:40. 8)
NEAL V-v  funT - A s Aogk 2pvb AL V-v  fun - K4 e FLfk aAvb
1 4 2968 TN B0 (2) = E - s 14. 67 1 8 2746 gk HFEQ) = E- b 14. 74
2 9 2981 Kb/ () = @m-smis 14,89 2 5 526 gmA HR(2) = E-AR/T 156.29
3 6 384 F(2) = &gk 14. 97 39 2369 &M FEAQ) = m-atsd 15.29 *TK
4 3 387 WM PZR(Q2) = m-pwat 15013 4 4 2478 WL EF () = E-Eadh 15,33
5 2 876 /NE By (2) = wepmeE 15.21 5 2 880 MUE Eib(2) = ®m-gmEnm 15. 36
6 5 2885 A #Jh(1) = & 15.27 6 3 1520 i+ 3(3) = ®-gmus 15,66
77 272 MiARBHBW(Q) = m-msEh 15.35 76 5671 RFE HEH(J1) = &-fE¥RC 15. 77
8 8 1903 PH BE() = m-psmEw 15.43 8 7 530 fHOEM(©R) = w- Ak 15. 94
9 1 389 AZO HEiH Q) = m-pshuh 15.70
1748 (aL:+0. 4) 18%H. (0. 0)
MERE V= don = K il gk 2Avh NERE V= fon = K4 e gk apvh
1 4 1662 KHiEAFQ) = &-z&h 14. 68 L 6 2751 KA ®H&1) = &-/hMrp 15.51
2 6 2783 AMREFIAAK(Q) = ®m-sRE 14.97 2 5 2159 [Lfi #E-(1) = meddslk 15061
39 1774 fibyw Fjk(1) = & - B 15.37 3 2 88 FIH  ARML(1) = & gEmvk 15. 68
43 1997 FSE OME Q) = - 15. 50 4 9 2421 Nk (1) = m-m@mmh 15. 73
5 7 133 AR mR(2) = E- Epeb 15. 61 5 4 879 Rl RZE(2) = m-pmEin 15. 74
6 5 137 R ZRF(Q) = & Ewmw 15. 70 6 7 836 KM H¥EQ) = &E-basd 15.90
7 8 837 FMIELHE(N) = =-puEd 16. 14 73 878 JNEOART(2) = m-pmEim 16.13
8 2 1370 WA BER) = & aEEE 16. 25 8 2752 [y B = E-MEE DNS
1950 (Al +1.0) 20%H. (:+1.3)
NEQE L=y funT - K4 e FoEk 2AVb JIEGE V- funT - KR4 i FoEk 2Avb
17 877 WEHEMRT(2) = ®m-pmEis 15. 23 18 1992 itH W) = ®-aBHh 15. 42
2 4 2324 HF FEQ) = wepmEie 15.85 2 6 1776 Jbh  =7p(1) = & Eeh 15. 63
3 8 2017 AW EHEOU) = ®m-_aAf  16.03 3 2 2161 A FEE() = m-mEd 15,69
4 9 1775 bAHAN) = &EH-Emep 16. 05 4 9 2784 AR HREQ) = &-zRT 15. 74
5 6 2898 /NEE  EAE(1) = m-wmek 16,09 5 7 2782 /H LEFQ) = &E- &t 15. 94
6 5 1372 fRlE &2 = ®-amwh 16. 60 6 4 1771 K FeEQ) = & Eseh 16. 24
73 1368 LH K@) = m-amEwEd 16. 65 7 5 5970 HE ZFEA(J1) = @ - REEFRC 16. 98
8 2 1287 AL Mm(2) = & s 16.65 *TK 8 3 1365 (LA A3E(2) - BT 17.24

JFL#I DNS: K15 *TKEZEHY



H 52 427-100m

R AR (K)) 11.99 I BT () A FIoeAE (2019) 1LHAH 11:30 §{hb—%
BADV-2%  22%H
214H (& :+1. 0) 22%H (L +0. 4)
NEAL V-V funT - A s FLEk 2AVb JIAGL V-v fun - K4 e Fofk 2Avb
1 5 873 il L@ = m-pmEe 15. 80 1 5 1165 fitiy EBR@Q) = ®m-EAED 14. 56
2 2 2722 i P (1) = m-pEbd 15. 98 2 7 1668 HA MIHEB) = &:-zRE 14. 92
39 2162 JIlE Mm&EQ) - A 16. 19 38 2982 FHLk HP(2) & R 15. 04
4 6 2000 R Ex (1) = &E-ARS 16. 34 4 2 1733 HEP EyEE(2) = - EETR 15. 22
5 4 1769 miH OPEI() = & Exb 16.79 5 6 1902 L% #3E(1) - g 15. 35
32790 [pg FoKkQ) = E-md DNS 6 3 2805 RAKF HITF(1) = - @ 15. 68
7 1848 #HZ T FEH (D) - R DNS 74 1906 TN A1) - s 15. 90
8 1777 FINFEELA (1) = & - Ehib DNS 8 9 2016 HAHFEOA(N) = &-“RH 16. 40

H A KL —R _EAr8fr
WAL - B i sk B 3ivh

1 1597 Ak B (3) = &R 12.06 +0.8
2 5089 I AL (J2) = #E-NAC 12.43 +0.8
3 346 AW BEEG) = &Kok 12.64 +0.8
4 1591 VEFS S (3) = E- MR 12.92 +0.8
5 297 #E -F©2) DO —Hmp 12.99 +0.8
6 1585 FH JEAE(2) = E MR 13.05 +1.4
7 2370 HEH BLEQ) S R L 13.09 +0.8
8 163 EWJIIEMK (2) = &- &b 13.11 +0.8
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HF 52242 F2000m

R AR (K)) 6:19. 98 LH k@) SRR 154 (2003) 11H4H 13:35 #{h—%
AAAV=%  3fH
1#H 2%
JIEfE ORD  $vn"— K4 il Fhdk aAvh JIEHE ORD  Fon' = K4 i) Fldx Vb
1 12 139 gk ZFER(2) = &- EWb 7:11.34 1 14 1903 PH SE(1) = ®-g#e 7:52.62
2 14 95 (EMhAES(2) = m-mwme 7:29.35 2 4 529 T (2) = @-ART 7:56.34
3 10 1668 HA HhTH(3) = E-ZRT 7:41.05 32 1774 fA Fjgk(1) = E- EsP 7:58.40
4 2 89 )1l FE() = ®m-mEmS 7:47.26 4 12 1662 KMiEAX~FE@Q) = &|-2xT 8:00.99
5 15 1262 FUF(2) = & - eEh 7:48.92 5 15 873 HIL ML(Q) = m-pmEir 8:01.75
6 6 2987 [MWEF MEBR(3) = m-R¥HsH 7:51.79 6 13 2326 EAR ZEEFA) = m-pmEnr 8:02.38
711 1287 Ak s (2) = #-xmEd 7:52.06 76 140 A% BEMI(2) = E-EHT 8:05.35
8 4 1513 Wl FFHE(Q2) = m-mmls 7:52,22 8 9 136 Il MEZE(2) = WE-EWmT 8:05.44
9 3 133 AfR JFRR(2) = E-ESP 7:58.04 9 1 743 Rt k() = #E-Eadh 8:24.05
10 13 385 &7 EH(2) = -t 7:58.26 10 3 90 ENASE (1) = ®-pukt 8:33.61
11 7 2988 Kl FEFE@3) & spE 8:00. 56 11 5 137 R AFi(2) = ®m- Ewmb 8:49. 14
12 5 435 R MEIR(2) = memwerme 8:01. 31 1210 2423 BF FEAREK(1) = E-amd 9:06.95
1 1083 #RE M&AB) = Z=-mmAd DNS 701593 /hO BT (3) = - MEd DNS
8 97 /NALRHRE (3) = & Bk DNS 8 874 JE TH(2) = ®-gwmEiw DNS
9 1523 PHO FEE(3) = m-mmlh DNS 11 2426 it EREA) = EesmEsg DNS
16 1375 B OFE@B) = & ammEd DNS 16 91 [f¥y HFes2(1) = ®-RWAGE DNS
3%E H A 5L —R NS
JIEAZ ORD v = K4 HT )& gk apvb JIELE fon - K4 B FCEk aAvb
1 6 2554 E[ ¥FQ) = m-ammEt 7:04.09 1 2554 ML W A) = ®-amwmd 7:04.09
2 12 1785 FHHIFZS A1) = &E- Ed 7:32.20 2 139 fiEFr K (2) = E-Ewr 7:11.34
37 432 WK FHIQ) = @memwerme 7:57.25 3 95 FHiEAhEE (2) = ®-mEser 7:29.35
4 4 2968 TN B (2) = E-mmd 8:20.51 4 1785 FHHIZS A (1) = & —&h 7:32.20
5 10 2161 A FE(Q) = &=-amks 8:22.88 5 1668 HA M) = E-z&Hh 7:41.05
6 5 2782 AN LR() = #E-ZAH 8:24.38 6 89 Il (D ® R 704726
7 3 2784 (LA Ede(1) = & -%&+ 8:29.87 7 1262 FUE(2) = - BT 7:48.92
8 14 2324 TR FPE() = mepmEir 8:33.07 8 2987 [T MEFR (3) - el 7:51.79
9 2 1365 [P AX(2) = m-aEEd 8:33.90
10 13 531 MEATE Q) = &-ARd 8:34.72
11 11 1769 AfH PEE(Q) = &-Ed 8:41.07
12 8 1733 W¥ R (2) = &-EETd 8:44.89
13 15 1527 [ FazE(3) = @-amick 9:04.54
1 438 Jbky F#b(3) = ®emmbime DNS
9 1777 FINFEELA () = & Ehid DNS
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th 2242 7-100mH (0. 762m/8. 00m)

R AR (K)) 14. 05 BA AR K SRR 254F (2013) 11H4H 13:25 #{h—%
A{AV=% 5
158 (Jal: +0. 8) 258 (JR:+0. 5)
NEAL V-V funT - A s Fogk 2pvb JIAGL V-v fun - K4 iz ok aivb
1 4 345 fEE A%Q) = &E- KAk 14. 31 1 7 840 AREA {Z#A(2) = - BEdP 17. 04
2 7 845 [Um EREB) = E-pHET 15. 29 2 6 1452 MW FAC(Q) = & wEd 17. 49
3 6 162 & i) = & &b 15.51 3 9 5652 B »FE(J3) = - fEEFRC 17.69
4 b5 5546 B EME(J2) = m-xeodac 15. 68 4 5 2743 JREZ LV (1) = &-MeEE 17.73
5 3 745 A MEE(Q) = &E-Es 16. 29 5 2 1661 PHJIEEW R (2) = &-z&Wh 17.97
6 8 5544 IV W AH(J2) = w-Kkieon ac 16. 35 6 4 1512 |LfE HIE(2) = ®m-gEMF 18.23
79 1445 Jb EH (@) = =-wAh 17.23 7003 834 ibhm BHEQ) = E-ghEd 18. 67
8 2 842 WEKS  Ey(2) = W BuET 18.13 8 1666 KV§ EEr(3) = E-3Kh DNS
3fE (J: +0. 3) 430 (B:+1. 2)
JBAL V= - K4 HT )& gk apvb JIEAE V= o= K4 B FoEk aAvb
1 5 835 [u# &) = &-barsh 18.93 1 4 2983 ol fEHx(2) = ®m-pudk 18.53
2 7 384 g FL(2) = - 19. 41 2 5 616 2 WE(2) = & smEdh 21. 04
3 3 530 HEHORAER) = &E-AES 19. 60 39 141 #ARLPL () = |- EmT 21. 32
4 6 2791 [UH @EEQ) = =-mEeh 19. 85 4 8 2371 &AEEZN() [RERE ] 21. 40
5 8 138 Zgmh HA(Q) = E-EmP O 20.96 5 6 1771 kI REEfEQ) = ®m-Emd 22.34
6 9 135 LEBHFESRQ) = & Eweb 21.20 6 3 526 gk BRI (2) = &AM 22. 66
4 1850 FE B = & omms DNS T 9T UNABRPEE(B) = E- s DNS
b#H. (R.:+1. 3) N S VA VA
JEAE Vv v - R4 e FoEk 2AVb JIENE fon - K4 B ik S WAREI
1 4 1908 =% fEE() = &g 19,47 1 345 EfE MK (3) = W kAW 14.31 +0.8
2 7 92 ZEEE HEFH(1) = & g 20. 00 2 845 [ EAR@Q) = & pamh 15.29 +0.8
39 2723 A EEL(1) = wm-emws 20,61 3 162 % o2 = ®- &P 15.51 +0.8
4 6 1904 KT fEBQ) = m- g 22.03 4 5546 EikE  SEUE(J2) = - KINGOM AC 15.68 +0.8
5 3 5547 VM MR (J2) = mexnoonac 22,73 5 745 A MEE(Q2) = @ Ead 16.29 +0.8
6 5 1775 W HAHAN) = &=H-Emp 23.73 6 5544 FEFED U 22 (J2) = e kiNoon ac 16.35 +0.8
8 995 PHE BELS(2) = ®-ntgd DNS 7 840 MEA (ZHI(2) = & - pamep 17.04 +0.5
8 1445 dbH EH (2) = &-#fh 17.23 +0.8
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R =gk (K)) 47.38 ZHEE (R - fiHE - EAK - ) SFeH (2019)
U R R gk (KJ) 48. 07 MR - RE - TEIE - TEIR) 450 4 4F (2022) 11H4H 15:10 #4h—x
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4% JEAHA 54.86 b5x& AHILTFA 6% LA 55. 65
V= R 6L—v
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YV NIE = & x0T 7 Ja = &

1 1156 R TF#ELT1(3) BEAH 1 1512 HIBEE R (2) 1 996 B¥fn FHiT(2) HAgH
Y Jun = & 47 4 LEANETAE = &

2 1151 Wl ALPI(2) B4 2 2725 AT ENEE (1) 2 997 (L3 #A(©2) HAtsP
)y ant = | YU e A74% v = &\

3 1157 FRH KB (3) JEAT 3 1513 HJIl &K (2) 3 2371 AWFEIRM()  FAEF

va 7hY = i@ YAt a3 = 1 v = =

4 1155 ity EEL(3) EA4H 4 1511 b #B5©) 4 995 WHE EZR(2)  AHhga
% FEE)IIFA 55. 99
5h—y
=4 = fon - K4 B!

EAENE = &

1 876 /NG B (@) FEVE)IY
ENN = &

2 884 JIMR EA(R) HEE)IH
S = &

3 882 rd R Q@) FEE)Ip
Pz = &

4 872 WH 4ZEQ) FEE)IH
2%

1% A 53.96 2% Ry 3% (FEEPA 57. 66
V= 6lL—v 3=y
=4 = o - K4 i) =4 =t - K4 =4 = N - K4 g
FERY WA = & AT} -3 TOFh € = &
1 1281 W)l FEE(2) S 1 840 AEA {Z#A(2) 1 387 W[ HA(2) {(HEukF
YNNG AR = @ ¥ F P o = &
2 1284 %2R EH (2) 2 834 o #Z&EQ) 2 1908 =% fEEQ) FrEEd
AR = = EIN Y] £)v8 3 = &
3 1285 O MR () X 3 842 THAT  E(2) 31904 AT fEAQ)  FEpkd
55 A = = Y7 =a =y TH = &

4 1286 AT FEJh(2) S 4 841 AAME HT0N(2) 4 384 HVH  ZE(2) (FEME
4%  WHEH 57.81 5% MHWY 6% HEHFRC 58. 10
5=y 8-y 2V-y
=4 = N - K4 i) =4 = fon = K4 Bi) =4 = oy - K4 i)

R = & R = & EVEEEN = =

1 619 K FF(2) HHF 1 1086 Ml ZFEB) EHE 1 5652 BEH 3 (J3) REEFRC

yi4y td) = & TV EN Ak = H T3 = &

2 617 BA WEEQ) HHEAF 2 1081 BEAR FHEE(Q) EHAF 2 5669 B A4 (J2) AEEFRC

99N fak = & RGP = | WY U = &

3 616 32 WE(2) WHT 31085 I LG mEF 3 5671 HBFE XA (J1) REEFRC

e = = SENUAETE! = ® i M = &

4 2968 TN 0 (2) HHH 4 1084 KAEHEHT(3) mHEF 4 5970 R A1) AREEFRC
1% HEFA 1:01. 46
4v=y
=4 = N - K4 Gz

T <0 = &

1 2802 Kl ZRE (1)

WD 74 = &

2 2804 M E (1) HpH

¥ aa = &

3 2805 A HAT- (1) fEEH

w3 = &
T

4 2803 HEifE  SEAL(1)
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Hh 2242 F4X100mR

R =gk (K)) 47.38 ZHEE (R - fiHE - EAK - ) SFeH (2019)
U R R gk (KJ) 48. 07 MR - RE - TEIE - TEIR) 450 4 4F (2022) 11H4H 15:10 #4h—x
BAAV-%  BHE
3%
1% L+H8TB 54.58 2% APRHIA 55.19 3% EHFB 55. 77
5h—y 2V-y 4v-y
=4 = funT - K4 Fﬁ)% =4 = N - R4 Fﬁ)ﬁl =4 = funT - K4 P&
THVF <77 T 55 77 v ) = &

1 2367 W EHR() iLJranP 1 524 ZERE WEK(2) M%EP 1 146 & ERF(2) Eh

a7 +In ¥7E Fh Y = &

2 2366 /T EE (D iLJrfan 2 528 AR PN M%EP 2 138 K EAC(2)  EhRH

WO Kt Y7} $7Y LIS = &

3 2368 TH B (1) iLJrfan 3 525 R Ei(2) M%EP 31779 A DEE(Q)  Ehkd

W T4 E7AN N 7% v = &

4 2370 #{H B&REQ) iLJranP 4 532 WHH &I (2) M%EP 4 141 BRLF(2) Esp
475 VEFENH 57.46 5% BFIHTB 58.50 63 JSPIHFA 58. 82
6L—v R 8V—v
=4 = funT - K4 Fﬁ)% =4 = N - R4 Fﬁ)ﬁl =)= funT - K4 Fﬁ)ﬁ

T A E A EF M

1 1408 JNjE  EER(2) F*WEP 1 94 AH  #5#E(2) %JH%EP 1 93 A& WFEFQ) %ﬂ%qﬂ
Y )5 {9z 22N ) apt

2 1406 U;U'% Z5(2) F*WEP 2 2982 %Lr 71;3333(2) %JH%EP 2 2987 ﬁ;@ ;’E%B(B) %ﬂ%qﬂ
DANT dan AxTEN U aR

31405 JEE  DIE(Q) F*WEP 32981 AL (1) %JH%EP 3 95 FHEEmFEL (2) %ﬂ%qﬂ
Fpve 2y VJAREY B) Fo%

4 3000 At & (2) *’*WEP 4 2983 FoH fEHR(2) %JH%EP 4 2989 BEEF #:45 (3) %ﬂ%qﬂ
%  EIFC 1:01.55
V=
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11773 3 REE(D) EWR
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=y 7/ = =

3 1775 W6 HAHA()  Eh
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=4 = N - K4 Gz =4 =t - K4 ﬁﬁ)% =4 = N - K4 ﬁﬁ)ﬁ,

iRk = TTIR I = & TINY A ES
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A = = VONELY) )4 Foh
2 431 HEAO Rt () RaBRdEsH 2 2743 REZ &0 (1) /J &EP 2 1997 HFE HE (D N%EP
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3 437 g ZEQ) Bkt 3 2746 EEE HLFE(D) /J &EP 31998 /A R (1) N%EP

ko 94n = = {vpe T F4
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=5 Jia =iy 74Y = | 1) b
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hv¥ abf AV = | IV VY

32326 EAR EFEQ) ﬁi”%é}a)HEP 3 2723 AT EFL(D)  AHELT 3 89 HJII (1) %Hlﬁﬂfﬂ

HE 7 k4 9N )T = & 4 2z
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—EH
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R = &
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e = =
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Z O S )
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Vave 1) = & T 7 71 = & TTh €7 = &
12887 Mg mEJy (1) S 1 1264 KIE Z(2) B 1 2475 HY #E(1) BAH
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3 2885 4vlit] ®Jy(1) S 3 2526 FmdE Eme(1) B 3 2476 R #BARQ) JEAETH
ARE MF = & vEra 2 = & Ny Foagt = &
4 2884 #aK FEHE()  XH 4 1263 NHEREE(2) B 4 1153 VHA B3R Q) FEALEH
475 AEBEH 1:03. 17 HAEAL N
8V—v R DNS 7V—v DNS
=4 = fon - K4 iz} F=8 = fon - K4 iz} =4 = fun - K4 B!
T 15 = &
11372 s REEQ) AJEWET 1C ) 1C )
WERSS = &
2 1366 F ME#EER) AJEEY 2(C ) 2(C )
%% af = &
3 1365 o A3 Q) AJEPEH 3 ( ) 3 ( )
Yoy g = &
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3 STl A 53. 96 B EE(2) / SEIF XA @ / Mo BEQ /PR #E©Q)
4 EHHFA 54. 54 A &R () / PEE Q) / PIIFTARE (D / CEREMEL (2)
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